10 (FR22%) 11 (FpL2 34) 12 (FR2 4F)
28N [K% FE_[F b [REN [K% wE_[f o+ [REN (K% prE |5 ok
458F 458F 458F
1/00280 |@EExR %47 (E1=)) 26.63 (03889 | IH (KGB) 26.1 (14465 |t =% ((EPN) 14.8
2|14511 |BREB 1593 (Zn) 16.13 (04767 |2H 5E (KGB) 18.4 (04767 |2M (57 (KGB) 12.0
3|00235 |H+H Bt (&no) 8.1 |34490 |#ME I£EE (NB) 3.9 [21058 | LA EER (DOC) 9.0
4103889 |FEE Ih (74) 7.4 140486 |ED ¥— (NB) 3.9 (40194 |@M F& (DOC) 9.0
5|40330 &k EEZ (XA 4) 4.3 (00235 |Md & (Bn) 3.4 (04835 (AR MBE (KGB) 7.5
6|04767 |2M (EE (KGB) 2.6 (07041 |il)Il Rk (XhA) 3.4 (03889 |FEE (KGB) 7.3
7138360 &k i (DOC) 2.6 140330 &K BE= (ZH4) 2.0 (40633 |EE BE (Z774) 5.5
8(28280 |FE IERS (7'm) 2.2 (36481 |HO =% (T/1) 2.0 [39721 |Ei&E R (77L) 4.3
9|12463 |AHIH BA (v E) 2.2 (36504 |@EE (& (1T/1) 2.0 (03890 [ f# ('m) 4.1
10(39787 |F#E 5 (NvE) 2.2 |21058 |LtAf EE] (DOC) 1.7 15242 | K& Xh# (7h) 4.1
11140172 |ZH fk (RA4) 2.2 40194 |iB@E 7% (DOC) 1.7 (07041 [iL)Il &k (ZH1) 3.8
12(32128 |#&M #PE (ZHA) 1.1 (25300 (B #&F (DOC) 1.0 40330 [#EKk BE= (ZA4) 3.7
13140183 |#ts Tz (77L) 1.1 |40183 |iftfE Tz (T7L) 1.0 |16805 |#KFH FEt (NB) 1.9
14 & F 78.6 34490 |#RE IEHE (NB) 1.9
558F 558F 40183 [#tts Tz (77L) 1.8
1{07030 |E@ ##A (ZRHA) 12.2 39710 |[hA & (T7L) 7.1 & F 90.5
2|139721 |EEE R (77L) 105 (39732 |&Af & (T7L) 71| 558F
3140497 k& A (v7L) 10.5 (40936 |%M =& (DOC) 6.5 (07030 |E@ H#A (ZHA) 8.7
4131767 SR ML (7 ) 4.3 14443 5 #= Ny 6.0 |00268 |ETF 1Tk (@) 8.6
5/00033 |=ME/II &l (o) 2.6 (05544 |3kE @E Ny E 6.0 07502 |RI& fofE (BnO) 8.6
6|37099 |FHk #%E (@) 2.6 (39721 |EiE Rif (T7L) 5.8 (31767 |5E A (7 5) 8.2
7139710 |[FH& & (F7L) 2.6 107502 |Rlm FiiE (FEnm) 5.7 128280 |F¥ IERE (7'm) 6.2
8139732 |&m & (77L) 2.6 40497 |KFHF A (F7L) 4.0 |39798 |EFBE R&E (N E) 3.0
9|06747 |lua 28] (2 h) 1.8 (28280 |F%H IERS (7o) 3.6 (40497 |K#FHx Eh (v7L) 2.4
4 & 49.8 103902 |t HES (7o) 3.6 (03913 |EA i@ (ZH4) 2.2
6 08T 31767 |[SE ML (74) 3.3 03902 & EB (7'm) 1.9
120024 |&E E3L (TM1) 3.0 |07030 |i=@E E& (ZRHA) 2.1 (13655 |Xk& fE— (24) 1.9
2|37426 |2 R (TM1) 3.0 |13486 |FMH —#B (UTF) 1.5 |34456 |K= I (24) 1.9
3|00202 |k =i (Eo) 1.5 (20024 |&HE 1E3L (TM1) 1.0 & 53.5
4/05825 |ILZE (5% (TM1) 1.5
4 3 90| 45%7F 4 54F
07119 [4H =7 (XhA) 43 (07119 |4m =T (ZHA) 8.7
4 54F 04004 |Fgth EET (KGB) 4.0 (25333 |#E #LF (DOC) 7.3
1{06758 |&R HETF (2vh) 6.1 [27021 |KATF &4 (7 kL) 2.3 (05645 |/ \EiR HEF |(£'A) 5.8
2106949 | THk T (FF) 49 (17851 |#£H {E=F (FRM) 2.3 (05982 |K#%x R (C0S9) 4.0
3|15826 [lig A= (A A) 4.3 |21014 |F/hE ER (Xh A1) 2312946 |Ed =S (v7L) 3.8
4112946 |&dE E=EtH (77L) 2.5 15826 |iLig EAE (ZAh4) 2.0 |15826 |liF EAE (ZAA) 3.7
5(05645 |/EiA HETF |(£'0) 2.2 (05397 |FEE A DL (F7) 2.0 (05612 |A+E ®TF (P A) 2.8
6/07063 |fBH HF (RA4) 1.3 (02349 | XF (2 h) 1.0 (05746 |%E &F (7 5) 2.8
7|107119 |%@ =T (ZHA) 1.3 |36403 [z IEF (F7L) 1.0 [06758 |&R HEF (2 h) 2.6
834513 [EH &= (TF4) 11| 55%F 12812 |#EH & LT (FF) 2.6
9/36403 |AKiE BT (77L) 1.1 |40532 |WTF A= (Enm) 4.2 (04048 (A3 #HF (RHA) 2.2
4 & 24.8 05612 |A+E HF (RAH4) 26 (31778 |BE #R (75) 2.2
55%F 05746 |FHFE BT (7 H) 2.6 |36403 |2 JEF (77L) 1.8
1{07119 |4%em =T (RA4) 3.7 (10944 |shL EETF (TM1) 1.0 [28303 |A#t HOF ('m) 1.5
2|01067 (&5 ¥ (3 r) 1.9 |44187 |m@E =¥ (T7L) 1.0 51.9
3110944 |diL EETF (TM1) 1.9
4106916 |[liw BB (2vh) 1.8
5|05612 |E+E H#F (RA4) 1.5
6|05746 |#ZA BT (74) 1.5
7|04565 |MWH EF (KGB) 0.9
8104576 |lLix ERTF (KGB) 0.9
14.1




13 (FA25%) ‘14 (FA26%5) 15 (FR27H)
28N [K% FE_[F b [REN [K% wE_[f o+ [RBN (K% prE |5 ok
4587 4587 4587
1|00235 |H+F B =] 11.94 |38360 [|iE7k DOC 11.0 |38360 [iE7k a4l DOC 12.5
215770 [mes & AL 11.88 03889 [fFEE KGB 10.8 [03889 [F#E b KGB 9.3
3|22633 |EA E— FST 8.3 (06376 |MvE AR AL 8.0 (06376 (A AR AL 6.7
432140 [BR m—#8  [FST 8.3 [04767 [mE fEE KGB 5.3 [15635 | KB ik FRM 5.3
5/03890 |S2i 1= 4= 8.0 00235 |HAF B zZn 4.9 |19673 |&iEF I1E# FRS 6.3
6(11372 (A % AH 7.9 107041 [i)Il 4RK =] 4.9 107041 |11l Rk =) 4.3
7|03889 |fREE Ih KGB 6.1 (15635 |KER Zeif FRM 4.5 (40330 [FEK B AHhA 83
8|04723 |HH —BF AL 6.1 |19673 |&fE IE# FRS 45 114465 |k =% BAZ 31
9[{07041 [l &K - i=| 5.9 [14465 |mEE =% BN 2.8 (20710 (Hi5 =i KGB 3.0
10[04835 |4m B3 KGB 4.1 40330 [k W= 2N A 2.0 |00235 [m B0 26
11(34917 (@& =2 7 A 3.1 46785 |#E L yEER N 2.0 (03890 [sRiw 1 7'A 15
12(47821 |[RIB E&E A 2.1 (02080 |h& fHRE I BK 1.3 [15242 (K& I kR 15
13(15242 (K& i kR 2.0 (15770 [teH & AL 1.3 (04868 (L f{&& FRS 1.3
14[38360 [Bk =t DOC 2.0 & &t 631 [27885 [& 6 FRS 13
15)04767 [2E EE KGB 2.0 S 60.9
1639934 |3t A 752 0] 550E8F
17(40183 [itthes B2 vl 1.0 (06747 [Lh#& R8I Ivh 6.7 55 ES8F
& 915 [40138 [E&IIl @A [~vE 6.0 [03913 [EA me ZNA 13.0
555F 03902 |kH HH 7'a 5.2 (45829 (K& 17A KE 8.9
1lo6747 [a &a IR 8.3 [51332 |ER% A 7a 4803002 [west %3 70 7.8
2|39721 |FEWE R v L 8.2 (28280 ¥ IER s 4.7 139833 |kE EHK - i=| 7.1
3|40497 |KFHx TR J7 L 6.5 40633 |EEE ®EE 774 3.9 |14443 | KF = Ny E 4.3
4139798 |AEE R&H AV = 5.5 (03913 |®mA fE® 2HhA 3.3 105544 |kE S Ny E 4.3
503913 [BA st 2 h A 4.2 13655 |x& fE— = 2.3 06747 [un &a IR 35
6(40936 |=H =& DOC 4.1 (34456 (K= 2 2.3 (39798 |FE R&H Ny E 2.1
7|49014 BT RBE— DOC 4.1 (39721 |(mEHE R 7L 2.3 (40138 [R&JII FEEA Ny 2.0
8[37077 |X%F EZH T™M1 3.6 40497 |KFkx A vr L 2.3 (40183 |[ifttE R vl 1.8
9|47786 (iR FTik T™™1 3.6 |05544 [ikE RS Ny e 1.9 (34456 K= Ih < 1.7
10(13655 |[Xk& fE— < 3.4 (14443 | KF Z= Ny 1.9 |13655 |Xk& 1E— < 1.7
11[34456 [x= z 3.4 [oss2s [LE 2% ™1 15 [51332 [ER% 3 70 13
12101551 |F3 #k DRM 2.1 (31767 |SE A 7 kLA 1.5 |28280 | IER 7'A 1.3
13[03002 [t &2 70 2.1 [47786 |36k ®Uk ™1 15 [23768 a2 &= Ny E 0.9
14(39710 |4y & vl 1.7 100033 |FEJII @l zZn 1.1 a B 61.6
15(39732 |&f & J7 L 1.7 |37099 |Fdk X =] 1.1 V¥
16(40745 [EH B 774 1.1 |40936 |&=H =iE DOC 1.1 (04048 (A #HF 2HhA 7.0
17(01573 [#&iR F=& DRM 1.0 [49014 |&x BE— DOC 1.1 |06916 |i& B3 Ivh 3.5
18(15646 [FH FE FRM 1.0 |40677 |4%H FH 774 0.9 15826 (= &M= AHhA 3.3
19(28280 |[FE IERS as 1.0 a Bl 57.2 (14689 |FBE EF v 3.0
& 3 666 | V&F 54357 [k E ko 3.0
VLT 06916 [i& 3% T2 f 6.7 |ooso4 [BF % E 2.8
1106916 |lL& B8 =2 8.3 (38023 |K%ZF HF zZn 6.5 |51972 |#B)Il AFE AH 2.6
2100594 |BHA =B s 8.0 (14533 |BK & =0 5.0 152120 |k& BT AH 2.6
3(04048 |3 #HTF ANhA 4.2 (00695 |(#EEH EBEF zZn 45138023 | KB HE i=| 2.3
415815 [t w<H  [AL 4.0 [25333 IR AT DoC 4.0 [28303 [#H #oF  |/n 18
5/00695 |#EH E& i i=| 3.8 (04048 [ #F 2HhA 3.3 LY
6[38023 [x® mm £ 3.8 [20157 |@E =¥ BT 3.0
7(00707 |[BER ETF - i=| 2.5 (15826 [L¥&F EME 2HhA 2.0
8|01652 |E" LhaF DRM 2.1 (05432 |EH =MF ~ 1.8
9128303 | A% HOF J'A 2.1 05645 |/hER HIETF 7'a 1.7
10|14533 |k & B0 2.0 28303 |AA HOF 7= 1.7
1120721 (K& IEF bR 2.0 (00594 |BHR =fE 0 1.5
12105612 |A+E XRF ZhA 1.9 41.6
13[05746 [%E BT 254 19
1405397 [mE HouL ko 13
15(01641 |[FEE == DRM 1.1
1638012 |/NII HEF B 1.1
17(01595 [tEAR #H= DRM 1.0
1806321 |5H #BF Ivh 1.0
1917851 |&H {7 FRM 1.0
20|38270 |#&H AF 774 1.0
21|25052 |#iH EfAE 77 1.0
22[25333 B iLF DoC 10
23|36403 |KiE JEF vl 1.0
a B 57.1




'16 (FRL2 8%) 17 (FpL2 94F) '18 (FR304F)
28N [K% FE_|F b [REN [K% wE_[f o+ [REN (K% prE |5 ok
458F 458F 4587
06376 |#VEH AMMAE AL 15.29 (06376 | WA AL 16.5 56270 |KJII = FRS 10.4
119011 |ihA& 3% AL 10.50 38360 |[i&7k it DOC 12.0 (53570 |MME & A 8.5
2|11990 |[Mv#h IEzE AL 6.8 46000 |fE4A B Xt 85 (51523 |&F &% FRS 7.6
3|11956 |#ls 1= AL 6.8 (04767 |Z2H (57 KGB 4.3 (06466 |¥EF ¥ FRS 6.4
4103890 | fi kR 5.3 (19684 |#@3 #A SP 3.6 43142 |BEA B= 774 5.6
5(45829 |A&  17A KE 2.8 36694 |RAE IE SP 3.6 (14465 |MEE =% KGB 43
6|45896 A B@ KE 2.8 (43254 |BER LR FRS 2.4 (06376 |HNE HBAR AL 4.0
7|14465 |mnEE =% BAZ R 2.6 43276 |&X % FRS 2.4 01292 | % XA 3.2
8|36694 |RA IE SP 2.6 14465 |tnEE =R KGB 2.1 (01360 |tE4Kk AA = 3.2
9140330 &K = 2hA 1.8 |39316 |HE% %% XA 1.8 (00235 |Md B ) 3.1
10|19684 |(## B3 SP 1.7 |46796 |B1E % =] 1.8 (02080 |hE HE | BK 2.8
11101292 |#a # *H 1.4 100235 |@E+ it =] 1.1 (14757 | = I BK 2.8
12|01360 [fE4A AN = 1.4 |12351 [t #he R 1.1 (19684 |43t HA SP 1.6
12|00235 (MG E &0 0.9 (04868 |1l f&7 FRS 0.0 [36672 |FBA B2 SP 1.6
13 & & 62.6 |01360 |[fE4AK AA 70 0.0 [12351 | #iE K 1.0
& &t 61.2 & &t 66.1
55U EBF
1(03902 |t &S 2Hh 4 8.9
2|03913 |BA fE@s ZHA 57| 55LUEBRF 55 EBF
3140138 |R&/II =R Nyt 55 (39798 |FEE RBE Ny 6.0 [39721 |miE Rif L 35
4114443 |KF = Ny 49 (11372 |BR % XA 5.0 (22396 |®E =k 7 R L 3.0
5(05544 |i%E @S Ny B 4.9 (40330 [BA = ZhA 4.1 (39798 |HFBE RE Ny e 2.7
645829 |AB  1TH KE 3.2 56292 |KAB &2 2HA 4.1 (03902 |t EH 2HA 2.6
714708 |HE & BAZ R 2.8 |40116 |/hAST #Hk Ny E 3.0 (03913 |&A fEs 2Hh 4 2.6
8|39833 [KkE ®Ek =0 1.5 103913 |[&A s 2HA 2.8 (40633 |EE BE 7L 2.0
9131992 |ME MRk 77 A 1.3 |40138 [R&)Il FEEA Ny 2.5 (40330 [iEk HEZ 2Hh4 1.5
10/51680 [l #ss 774 1.3 103902 |t &S 2HA 2.3 (42703 |#k i 774 1.5
11139721 |FEiE R L 1.3 103913 |[&A (s 2HA 2.3 (56292 |kEE #2 2Hh 4 1.5
12140497 K7 A 7L 1.3 |56191 [&A A B 2.1 (40116 |/hAT FHk Ny 0.9
1315242 kK& i kR 0.8 |05229 |BIEE SF v 2.1 (05229 |mER <p N 0.8
1439798 |¥#E RE& Ny 0.0 (39721 |Ei&E Rif Ty 1.5 05544 [R5 @SB Ny 0.8
1523768 |AfR == Nyt 0.0 (15242 | K& 3CHfE kR 1.4 14443 |K¥F #= Ny 0.8
4 3 43.3 |40633 (B ®E 774 1.3 (34917 |Aix =T = 0.8
V&TF & & 40.4 & F 24.9
1138023 |K¥ EEF =0 7.5
2|14533 |iBKk & &0 6.0 | V¥ V&ZF
3|00695 |@EH E&E =0 5.3 (38023 | K% HE = aa| 7.1 [56731 |E® =BT 2HA 4.9
453255 A& AT KE 3.2 (00695 |HH E&F =] 5.6 (56304 |KAE HT 2Hh 4 4.9
5|00594 |BAFE % =0 2.4 120787 |frdh BB AL 4.5 |20787 |trHh BB AL 4.0
615826 |iLw A= 2HhA 1.8 |40521 [K#E 1T =] 3.0 (23892 |#EE T T 3.8
7\04048 |BW HTF ZhA 1.6 (04048 [AW %7F 2HA 2.8 [14533 [|iEk & =0 3.8
844233 |mH ME SP 0.9 (00594 |BHE = =] 2.4 (15220 |HE =R T b L 3.0
928044 |\TF HETF ZHA 0.8 (03205 |AE M AL 2.3 |14689 |EE ETF k7 2.4
10/20721 |k& IEF kR 0.8 (02811 |HE #&F KGB 1.5 |54357 |[Jek I N 2.4
30.3 (01652 [EE LHF DRM 1.5 (54593 |=H BF 7 LA 2.0
14533 [Fk & =0 1.3 138023 |X®H HE B0 1.9
31464 (#8851 RF B 1.1 (00695 |#EH BE&E =0 1.9
33.2 |46954 AT =HE 774 1.5
31464 |[#85] RF k7 1.0
00594 |BF =f ) 1.0
05397 |[FIEE A~ 2L R 0.8
04554 |&iL ®F 2Hh 4 0.8
39.8




